#HEX—TIKk1 (A 4B

SHIEIAS
SALSATERAKE (FEBAL KERREREREE GERE)
PRAKESRT 8:30
KERBHEERE (EXIEKE 2KkF (EK )
=} XiE SR | KE| A E pH |ZILAhU| BE | &% &t & E8%% " &
E HBEWM| A+ HY
C C E mg/ | mg/l | mg/l | mg/l | mg/l | mg/l

1 & 6.0 7.1 1.6 1.75

2 & 1.0 7.6 1.8 7. 81

3 i 1.5 1.4 1.6 7.80

4 £ 3.0 7.6 1.4 7.88

5 i 0.5 7.5 1.5 7.89

6 £ 4.0 1.4 1.4 7.90 57.1 70.5 139 8.1 0.09 <0.02
7 & 5.5 1.4 2.7 7.78

8 & 3.0 8.2 9.0 1.75

9 & 0.0 7.5 2.9 7.78

10 = 0.0 7.0 2.6 7.79

1 = 0.0 1.2 2.5 1.1

12 £ 3.5 7.0 2.4 7.80

13 i 2.0 1.7 2.2 7.78

14 = 2.0 7.8 2.2 7.82

15 i 1.0 8.4 1.9 7.79

16 £ 9.0 7.3 10.9 7. 81

17 = 0.0 7.6 3.8 1.75

18 = 4.0 1.4 5.3 7.80

19 = 2.5 8.0 5.5 7.74

20 [55] 7.0 9.0 2.7 7.78

21 £ 6.0 9.6 3.3 8.02 57.2 | 175.1 175 10.9 0. 41 0.02
22 i 6.0 9.8 5.8 7.68

23 = 5.0 9.7 6.2 7.82

24 i 4.0 9.5 3.7 7.90

25 £ 7.0 9.5 3.5 7.86

26 = 5.5 8.9 3.3 7.78

27 = 4.0 8.5 2.9 7.83

28 = 5.5 8.1 2.5 7.84

29 = 5.0 9.0 3.6 7. 91

30 = 0.0 7.9 3.4 7. 81

31 = -0.5 7.9 3.6 7.74
Ty 3.3 8.1 3.5 7.81 57.2 | 72.8 157 9.5 0.25 <0.02
=E 9.0 9.8 10.9 8.02 57.2 | 175.1 175 10.9 0. 41 0.02
Ex{E -0.5 7.0 1.4 7.68 57.1 70.5 139 8.1 0.09 <0.02




HREX—TIK1 (A4 A

SHIFEIRS
ALSATERKE GEEAE) KEHARBERBREE FEE)
FROKEFE 8:30
KB RHBHERE (ELIEKE FKt (GRK )
B Xz | [RIR | KB | A E pH |7ILAVU| BE | %% |EtY| & v | & E
E BEM| 1A Hy
°C °C B mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 & 6.0 1.7 0.5 7.58

2 & 1.0 8.3 0.8 7.59

3 i 1.5 8.2 1.3 7.60

4 £ 3.0 8.0 1.1 7.60

5 i 0.5 8.1 1.1 7.63

6 £ 4.0 1.4 1.2 7.58 53.9 72.3 128 8.2 0.06 <0.02

1 i 5.5 7.3 1.3 7.64

8 i 3.0 7.8 2.1 71.54

9 & 0.0 7.1 1.7 7. 56

10 = 0.0 6.7 1.0 7.55

1 = 0.0 6.7 1.4 1.57

12 £ 3.5 6.5 1.1 7.53

13 = 2.0 6.9 1.2 7.63

14 = 2.0 7.3 1.3 7.60

15 = 1.0 1.7 1.2 7.60

16 £ 9.0 1.5 1.3 1.57

17 i 0.0 7.3 1.3 1.67

18 i 4.0 1.2 1.4 1. 47

19 i 2.5 1.5 1.5 7.48

20 [55) 7.0 7.8 1.3 1. 45

21 £ 6.0 8.8 1.3 7.69 b4.6 74.2 130 11.2 0.06 <0.02

22 = 6.0 9.8 1.6 7.55

23 = 5.0 9.6 1.5 7.52

24 = 4.0 9.1 1.1 7.48

25 £ 7.0 9.3 1.5 7. 56

26 = 5.5 8.7 1.5 1.43

27 = 4.0 7.8 1.3 7.52

28 i 5.5 7.9 1.5 7. 61

29 = 5.0 8.0 1.7 7.64

30 = 0.0 8.0 1.6 7. 56

31 = -0.5 1.5 1.2 1. 51
Fiy 3.3 7.9 1.3 7.56 b4.2 73.3 129 9.7 0.06 <0.02
== 9.0 9.8 2.1 7.69 b4.6 74.2 130 11.2 0.06 <0.02
=K -0.5 6.5 0.5 1.43 53.9 72.3 128 8.2 0.06 <0.02




